SEQUENCES
CONTENT DOMAIN REFERENCES: Ksz SATS

A3 PRACTICE QUESTIONS BY TOPIC

n Here is part of a number sequence.
[2007]

The numbers increase by the same amount each time.

The sequence continues. '/—'J
Gircle all of the numbers below t
@) (05) 989  (looo) 2081
[1 mark]

Here is part of a number sequence. 3 ——
n 4 ] N TV " \1"'\

[2011] A MUl TN EC OF
The numbers in the sequence increase by 25 each time. i? MULTIRES € /
\._/‘“\ Z;S_ | =
50 75 100 1256
Circle all of the numbers below that will appear in-the-’SequénCe'.
255 (§§§} 735 (§§§> 995
[1 mark]
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B The numbers in this sequence increase by 75 each time.
[2008]

Write in the two missing numbers.

+4s

£ - P T
N\ a7l " R, !
‘| 6SO| 725 800 875 950 |\Ols
[2 marks]
n The numbers in this sequence increase by 14 each time.
[2016]
Write the missing numbers.
Somp ) + 1y o 414
— Y e vy =
Lg | 82 96 |1to| 124 138 |I52
[2 marks]

B The numbers in this sequence increase by 30 each time.

v | = - T
4+ A0 = 5.._ - _;Q !
[2015] P i Pis e J

20 50 80 [110/.,

R e ——

The sequence continues in the same way.

Which number in the sequence will be closest to 300?

| L\ O 200 290 320

2 0¢ 296

( Show your methad}
e

[2 marks]



n The numbers in this sequence increase by 3 each time.
[2011] o
3 6 9 12 ... YWULTIPLeS oF 3.,

The numbers in this sequence increase by 5 each time.

5 10 15 20

Both sequences continue.

Write a number greater than 100 which will be in both sequences.

(1 MULTIPLES dF B hore Than| 0o -

[

E

s loS. 110, (1S

o . -
5 2 ! ) lo s
U3
or |20, 13S . S0, , [2 marks]

The numbers in this sequence increase by the same amount
[2006] each time.

Write in the missing numbers.

N

-y o eged — [1 mark]
THREE IN(REAS &S ADD ON L

So EAlh (INCREALE AW 1 =4



n The numbers in this sequence increase by 10 each time.

[2014] ALl ThHE NUMBELS
3 13 23 e l-%‘

END (N
The sequence continues in the same way.
=z _ ‘ ETC -.
5%, 43,953,675,

Write two numbers from the sequence that add to make a total of 96

\ ’+3 and 53

R k | _}; A
Explain why it is not possible to find three numbers fromthe
sequence that add to make a total of 96 Ly L

il

EACH NUMBER FROM THE
SEQUENCE ENDS [N '3 50 IF
You ADWEDd ThREE ¢ F The NUMBEK
ToGEThER THE RESOLT MOST END

(N 'a’

[2 marks]

n The numbers in this sequence increase by the same amount each time.

[2014]
Write the two missing numbers.
: + H-,L + Y0 A- -l

P — /_, >
.’/"" .). . r

N sz | 610 650 690 | 230

[2 marks]



m The rule for this sequence of numbers is ‘add 3 each time".
[2001 ]

1 ik 7 10 13 16 ..

The sequence continues in the same way.

Mary says,

‘No matter how far you go there will never be a
multiple of 3 in the sequence’.

Is she correct? \
Circle Yes or No. '

Yes )/ No

Explain how you know.
T T
EACH NUMBEZ |S ogNE (MoRksS
THAN A MULTIPLE OF THREE AND
(e Yoo Weer ADDING 3 ALL ™ME NEW
NUM RBERS WILL ALSo BE ONE MoRE

AHAN A MULTIPLE OoF 3.

[1 mark]

Liam makes a sequence of numbers starting with 300

[2010]

He subtracts 125 each time.

Write the next two numbers in Liam’s sequence.

) < - | LS
\ A -

300 175 50 -+S -100

[2 marks]



m A sequence starts at 500 and 80 is subtracted each time.

[2002] h
2

500 420 340

The sequence continues in the same way.

Write the first two numbers in the sequence which are
less than zero. ;

- Lo

- 1%0

[2 marks]

m This sequence of numbers goes up by 40 each time.

= HO

[2000] P Y " /\4 _,/ o)
40 80 120 160 200

This sequence continues.
Will the number 2140 be in the sequence?
Circle Yes or No. - ' \~ Yes /@

Explain how you know.

I

§3 rem 2o

Lof2 ko

Tl ko L& NaT B DRWLTIPLE

of 4o _

[1 mark]



m The numbers in this sequence increase by the same amount each time.

2017] ] e
| : Write the missing numbers.

+5S + 2

- .

i a7y

+5

0 |

y
pid

|t
N

3. 1 1
8

[2 marks]

m The numbers in this sequence increase by 7 each time.

[2008]

1 8 15 22 29

The sequence continues in the same way.

Will the number 777 be in the sequence?

Circle Yes or No. _ _ \ Yes /(No

Explain how you know.

I

-

"BeCAUSE BALH NUMBER N THe

SEQLUENCE 1S ONE (MoRE THAN
/ A MULLTIPLE OF + AND TZZ (S

i

A mMuLTleLE oF T

[1 mark]



m The numbers in this sequence increase by equal amounts each time.
[2015]
Write in the three missing numbers.

_ P - '\’J /’_ = . __'_' -A
I i 4 r 7
a

F?‘(.;g." 1\: ::'J’K_é‘.'f:)g

(INCREXSE OENCE B7 (
o [ - [1 mark]
Se EAct StEerP S 54— = L.
e
Here is a sequence of patterns made from squares and circles.
[2001]
number of | number of
squares circles
S 16216 0r3
oL |9 |0 2 DHED> 5
OLIOLIOLIOl | 3-G63a)>7
1._.15 o
The sequence continues in the same way.
Calculate how many squares there will be in the pattern
which has 25 circles.
(o |  Bocwarbds RULE
o - b
£ L AN ClRCLES
| U= D
S
= ! P
) .
E' > 3 l l
& (= —» S0V
— ]
2 k
154D 12 oo



[2002]

Paulo makes a sequence of numbers. _-'-' - . ‘ ,

He chooses a starting number and then subtracts » -4 ¢ 72
equal amounts each time. ~3UB _ ,

The third number in his sequence is 45 7
The tenth number is ~32 oo A |
"'h --‘.t — -l =1 -1 - i/

(\ \:f’—“ d / M- N N M N\ N
45 -32

What is the first number in the sequence?

( Show your method }

4 5 S 6
+ | + | |
56 o +

[2 marks]

[2000]

Look at the sequence below.

To get the next term in the sequence, subtract 90 from the term before.

o e G " ; ....—...".;
500 410 320

Write the first two terms of the sequence that are less than zero.

370 130 \uo - o
- a0 -6 -90
9_30 l'-t(a “‘L‘o ~-130

-k 30

[2 marks]



[2001]

Here is a sequence of patterns made from octagons and squares.

numberof | numberof
octagons (n) | squares (q)

1 <3 ra

2 -EH Vw7
3 431010

4-€31ED> 13

pe

The sequence continues.

How many squares will there be in the pattern that has
40 octagons?

FRWARDS( KUuLE | | |
(D4 D SQUXES

hox2= 120
lzo+=i2l ] 121

q represents the number of squares.

n represents the number of octagons.

What is the rule connecting g and n?

----------------------------------------------
oooooooooooooooooooooooooooooo

-----------------------------------------------

[3 marks]



n Look at this sequence of patterns made with hexagons.

[200

0]

pattern number 1

To find the number of hexagons in pattern number n you can use these rules:

pattern number 3

pattern number 2

X

Number of grey hexagons

Number of white hexagons

n+1

2n

Altogether, what is the total number of hexagons in pattern number 207

( Show your method }

GRrEY

wHritTe

= 264 |
= 2Zx?o0

ToTA.

-
—

c 4o

= el

—
—

G|

[2 marks]



